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Part I: Listening Comprehension





       12 BE
Fill in the list below and tick the correct answer like this ( where necessary. 

The information you get doesn’t appear in the same order in the text.
Michael Sessions’ becoming US mayor1   
Campaign

He started his campaign only in September because 
( he had been too young before.

( then the election was first announced.

( the candidates had only four weeks of campaigning.

He financed his campaign by _____________________________________

His campaign promises (no full sentences):

_____________________________________________________________ _____________________________________________________________ _____________________________________________________________

Election

He beat his rival by ___________________________________

Election party with:  ( coke                ( champagne                   ( beer

After the election

First day of work: __________________________________

Time spent at school: _______________________

Mayor’s working hours end _______________________________________

He has 
( to pay $ 700 for his office.       


( to pay $ 3,600 for his office.


( no office of his own.

He will be in office for ______________                                   
Annotation:

1  mayor: Bürgermeister                                                                                          ________BE
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Part II: English in Use
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An accident in Grand Canyon
Decide in each case which of the three options is correct and tick it like this: (.


( fell
A 35-year-old woman died in a Flagstaff hospital last night after she 
( felt
      from

( has fallen
a 250-foot cliff in Grand Canyon National Park.




( happened
The area is said to be very dangerous and quite a lot of accidents 
( had happened



( have happened

there so far. 



( had been lying
When the first rescue teams reached the woman after her fall, she
( was laying





( had lain


( over than
in a side canyon for 
( more as          half an hour. 


( more than






( took place

Three other tourists were in the area when the accident  
( took part            but





( took time


( neither

unfortunately 
( no one     of them was able to help .




( none                                                           


( wouldn't be


They said they 
( weren't               able to give first aid because there was no 

( hadn't been
( save
( safely
   way down the cliffs to the woman.
( safe


( hard to be believed
One of the park rangers told our reporters: "It's 
( hardly to believe



( hard to believe



( a year.
that this kind of thing happens so often, about five to ten times
( in a year.




( pro year.                 
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( were discussing

But it does and we 
( have been discussing      it for months in our staff meetings.

( had been discussing




( will put up


We hope it will get better when we 
( will have put up        new fences 
                                         

( have put up





           ( 
preserve


at the most popular viewpoints to   (  defend               tourists better.

· protect



( being tried

It’s  worth    
( to be tried 
anyway.


( trying

( let people pay
And one thing's sure: we will
( make people to pay      high fines if they climb over  

( make people pay

these fences. 

Anyway, personally I think that people would enjoy their stay much more if we
( needn't
( didn't need          so many rules and laws, but there are simply too many people who
( wouldn't need


( completely foolishly


behave
( complete foolishly
for us to go on like we did. 


( completely foolish




( used being
It   
( used to be                   much easier for us rangers in the past, I can tell you."

( used to have been
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Part III: Text Production
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 Quelle: www.blackcommentator.com
Describe the cartoon above and explain its possible message. Write between 120 and 140 words.  
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